04.2.3 0000O0O0ODOO0OOO

(ppm) (%) (/L) t= (ppm) () (/L) f=
17 4 28 0.0005 0.05 0.3 0.0005 0.05 0.3 0.7m/s
17 5 30 0.0005 0.05 0.3 0.0005 0.05 0.3
17 6 21 0.0005 0.05 0.3 0.0005 0.05 0.3 0.5m/s
17 7 22 0.0005 0.05 0.3 0.0005 0.05 0.3 0.2m/s
17 8 23 0.0005 0.05 0.3 0.0005 0.05 0.3
17 17 9 26 0.0005 0.05 0.3 0.0026 0.05 0.3 0.1m/s
17 10 24 0.0005 0.05 0.3 0.0005 0.05 0.3
17 11 25 0.0005 0.05 0.3 0.0005 0.05 0.3 0.5m/s
17 12 26 0.0005 0.05 0.3 0.0005 0.05 0.3 0.4m/s
18 1 20 0.0005 0.05 0.3 0.0005 0.05 0.3
18 2 27 0.0005 0.05 0.3 0.0016 0.05 0.3 1.5m/s
18 3 14 0.0005 0.05 0.3 0.0033 0.05 0.3
18 5 31 0.0005 0.05 0.3 0.0005 0.05 0.3 0.5m/s
18 6 22 0.0007 0.05 0.3 0.1m/s
18 6 28 0.0005 0.05 0.3
18 7 28 0.0005 0.05 0.3 0.0005 0.05 0.3 0.8m/s
18 8 21 0.0005 0.05 0.3 0.0007 0.05 0.3 0.3m/s
18 18 9 20 0.0005 0.05 0.3 0.0005 0.05 0.3 0.7m/s
18 10 20 0.0005 0.05 0.3 0.0005 0.05 0.3 0.5m/s
18 11 20 0.0005 0.05 0.3 0.0005 0.05 0.3 0.1m/s
18 12 20 0.0005 0.05 0.3 0.0005 0.05 0.3 01 0.2m/s
19 1 19 0.0005 0.05 0.3 0.0005 0.05 0.3 0.3m/s
19 2 20 0.0005 0.05 0.3 0.0005 0.05 0.3 0.3m/s
19 3 9 0.0005 0.05 0.3 0.0005 0.05 0.3 0.2m/s
( 0.02ppm
( ) Sppm (o.llss?yc;%
40000ppm

(4%)

5%

10f/L




